Total Marks:15
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Class:10th

Time:15min

Subject:Math(Objective)
Choose the best answer.Cutting overwriting and use of inkremover is not allowed

Number of ways to solve quadratic

equation are:
a)l b)2
c)3 d)4

Roots of the following equation are:
9x ~4x+1=0
a)Real, Equal
c)Imaginary

b)Real, Unequal

d)lIrrational

Ifa, [3 are roots of equation 7x -x+4=0 then

a)-1/7 b)4/7

c)7/4 d)-4/7

The fourth proportional w of x:yiviw is
a) o Bl

c) xyv )

vy

In continued proportiona:b=b:c,cis said
to be proportional to a and b.

a) third b) fourth
¢)means d) None of theg€
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A function of form f(x)= YY) AtRD(x) =0, 2D (x) (L5 - Lc-uf___{("f(x)_ D(x) JU

where N(x) and D(x) are a po]ynomlal in x is

called
a) an identity b)anequation

¢) a fraction d) none of these

(AuB)UCisequalto:

a) An(BuUC) b)(AuB)NC

¢) AU(BUC) d) AnBNCO)

The number of elements in power set of
{12.3}is"

a)4 b)6

c)8 d)9

The observation that divide a data set into four
equal parts:

a)Deciles b)Quartiles

c)Percentiles d)Harmonic mean
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—-radian=...... —radian=......
a)l 15" b)135" a)l15" b)135’
c)150’ d)30’ 150’ d)30’

"' A chord passing through the center of the circle _ﬁ;t‘Lkv( Sand_sfe S Ll
1s:
a)Radius b)Diameter a)J 1 b) &
c)Secant d)Circumference OB d)bs

12 Tangents drawn at the ends of diameter of P S Juil'gfl/ zgx’_,w/ L/JL/_/’ fy 12
circleare ................ to eachother. ' -
a)Parallel b)Non parallel a)$I# b) Lff'?ﬁ;
¢)Collinear d)Perpendicular LA d)iosf

" An arc substends a central angle of 40" then S o3 L3 < 40" WSS P89 L) 13
corresponding chord will substend a central 7 SUNI— U
angle of ;
2)20° b) 40° )20’ b) 40’
c) 60’ d) 80" )60’ d) 80"

" In the figure, O is the center of the circle then ~g3”=------x:-:3 Ve 07(/ b7t U:y 1

angle x is:

a)l5 2 )RS
)45 d)60’ &5’ d)60’

15 If the distance between the centers of thegwo i d:urlu.liﬁu“v 15651 Ve rﬁu:flw/l 15
circles is equal to the sum of their radgi thenh the ZZU_%‘L..; 3954
circles will: . ‘/gj
a)Intersect Gl et P !
b)Touch each other externdlly bl ZJ, v ,4{:’b Y-

. 921 o
¢)Do not intersect Colp et S
d)Touch each other internally DL/ U4 Sk
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